Akersberga BS

ERIKA Dagtid 2019-01-24

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: 71.8. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 9 88.5 61.43  Hans Ahlstrom - Jan Carlson 59983 32223 Akersberga BS
2 10 78.5 54.50  Britt Edlund - Lena Bjon-Aaltonen 10455 2602  Akersberga BS
3 2 77.0 53.44  Yngve Frélander - Hans Ohrling 14452 25090 Akersberga BS
4 4 76.3 53.01 Gunilla Ostervall - Sven Mellgvist 9131 50225 Akersberga BS
5 1 72.8 50.53 Ove Jansson - Inga Nyberg 9090 33178 Akersberga BS
6 5 71.6 49.74  Ingrid Molin - Kenneth Magnusson 62268 62270 Akersberga BS
7 7 69.0 47.88 Carl-Johan Tersmeden - Sven Alenius 55579 54714 Akersberga BS
8 3 62.9 43.65 Jan Holm - Bertil Blomqvist 54966 52968 Akersberga BS
9 6 49.6 34.44  Gullevi Feldt - Kristina Lokrantz 2229 11613 Akersberga BS - Norrorts Bridge
1 4 K972 Basta kontrakt 2 4 Kn105 Basta kontrakt 3 4 D943 Basta kontrakt
Nord vKn 44 N D -2 -300 Ost vKn764 64 O =-980 Syd v D92 34 V =-140
Ingen + 8742 NS + D7 ov ¢ E943
#Kn872 & ¢ v & NT #8653 & ¢ v & NT *42 & ¢ v & NT
4Kn103 4D6 N85 283 4ED74 4K86 NOOG6 00O 4 EKKn5 41087 N46 435
v K53 vE1087642 S 8 5 2 8 3 v8 v 1032 S006 00 vK4 v 108753 S 46445
¢ DKn965 ¢ E O 5 8 105 9 ¢ K8543 ¢ EKn10 O 12127 128 +K102 +D7 0979 938
«54 *«ED9 vV 5 8 105 9 #DKn4  #EK92 V 12127 128 #E965  #KKn3 V979938
& E854 4932 462
vD9 v EKD95 v EKn6
+ K103 + 962 + Kn865
#K1063 «107 «D1087
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 6 3v0O+l A -170 6.0 00| 9 1 24V+2 v6 -170 6.0 00| 9 1 3NO-1 *7 100 6.0 0.0
10 5 3vO+2 #4 -200 40 20(10 5 44 V= +Q -420 40 20(10 5 INV= 43 -90 4.0 2.0
2 4 4v 0= s A -420 10 50| 3 6 44 V+1l vJ] -450 2.0 40| 2 4 INV+1 43 -120 1.0 5.0
9 1 4v0= aA -420 10 50| 2 4 3NO+2 @A -460 0.0 6.0 3 6 2NV= a4 -120 1.0 5.0
7 - 2.9 7 - 2.9 7 - 2.9
4 4 K732 Basta kontrakt 5 4752 Basta kontrakt 6 497654 Basta kontrakt
Vast v7 4¢ N =130 Nord v E952 44 N =620 Ost v K6 3NT O =-600
Alla + E109743 NS + EKD ov + Kn109
&E4 & ¢ v & NT *642 & ¢ v & NT #Kn74 & ¢ v & NT
+E10 4 Kn654 N5 104 7 7 a- 4 K10964 N5 6 10109 4 D82 4 KKn10 N36 454
vKn9642 vKD85 S 5104 77 vK10 vD73 S 56 10109 vE1085 v942 S 36454
+ KD +6 083956 498542 4763 077233 +3 ¢ EKD4 097889
210865 #KD93 V83956 #KD10987 453 V76233 #K10932 #D65 V978289
« D98 « EDKn83 4E3
vE103 v Kn864 v DKn73
+ Kn852 + Kn10 + 87652
#Kn72 #EKn ~E8
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
4 7 2¢ N+1  vK 110 6.0 00| 4 7 4vN= *5 620 40 20(10 6 INV+1l 44 -120 6.0 0.0
3 5 4v0-1 +5 100 20 40| 9 2 44 S= *K 620 40 20| 9 2 INV+2 &7 -150 4.0 2.0
9 2 4vV-l ¢ A 100 20 40|10 6 44 S= *K 620 40 20 3 5 3NO+1 5 -630 1.0 5.0
10 6 4v V-1 *A 100 20 40| 3 5 4vsS-1 a4 -100 0.0 6.0 4 7 3NO+1 ¢5 -630 1.0 5.0
-1 30 - 1 30 - 1 3.0
7 410872 Bésta kontrakt 8 & KKn Bésta kontrakt 9 a- Bésta kontrakt
Syd v 9873 6v V =-1430 Vast v KD62 7¢ V =-1440 Nord v EDKn6 44 N =420
Alla +97 Ingen ¢72 ov + EK1096
#E85 & ¢ v o NT #D9543 & ¢ v & NT #EKn52 & ¢ v & NT
4« Kn5 » EK64 N71041 454 4 ED972 N306 22 4E632 495 N 8 8 8 108
vKn65 vED1042 S71041 vEKn4 ¢33 S30622 vK8542 v107 S 7 8 8 107
¢+ EK863 ¢ DKn4 O 6 12129 7 ¢ EKD9 108543 O 10137 1110 +8 ¢ DKn432 043415
£962 «D vV 6 12129 7 #EKN82 #K6 V 10137 1111 #743 2KD98 V55526
4 D93 410863 « KDKn10874
vK v 109875 v 93
¢ 1052 + Kn6 +75
#KKn10743 «107 #106
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 6 4v 0= 43 620 50 1.0 4 6 24 O+1 &7 -140 6.0 00| 4 6 44 S= +8 420 5.0 1.0
9 3 4v0= +5 -620 50 10| 9 3 3NV= *4 -400 4.0 20| 9 3 44 S= +8 420 5.0 1.0
1 2 490+l &6 -650 2.0 40[(10 7 5¢ O+1 K -420 2.0 40| 1 2 3NN-1 49 -50 1.0 5.0
10 7 4v O0O+2 &7 -680 0.0 6.0 1 2 5¢V+2 K -440 0.0 6.0({10 7 44 S-1 +8 -50 1.0 5.0
5 - 3.0 5 - 3.0 5 - 3.0
10 & E9654 Bésta kontrakt 11 & Kn6542 Bésta kontrakt 12 D83 Bésta kontrakt
Ost v D432 5& O D -2 500 Syd v94 44 V =-420 Vast v K432 44 V D -1 100
Alla ¢+ E84 Ingen ¢+ Kn3 NS + E83
&5 & ¢ v & NT #E632 & ¢ v & NT %843 & ¢ v & NT
4 Kn8 4 K N 3 9 4 104 4 EK109873 & - N8 7 233 2Kn94 4 EK5 N6 49 88
v Kn87 v EK105 S 3 9 4 104 v5 vEKDKNn763 S 8 6 2 3 3 vKnl108 v9 S 6493838
+ 1096 ¢ Kn73 09 4824 + K97 + 1065 O5 6 10109 47652 ¢ KDKn94 07 9 445
#EKNn876 #KD1092 V94824 «104 #K75 vV 5 6 10109 #Kn65 #D1097 V79445
4 D10732 4D 410762
v 96 v 1082 vED765
+ KD52 + ED842 + 10
#43 #DKn98 *EK2
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
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5 7 4v0-1 &4 100 50 10| 5 7 4¢v0-1 +Q 50 50 1.0 9 4 5DO-2 #A 300 6.0 0.0
9 4 2v0-1 + K 100 50 10| 9 4 34V-1 ¢J 50 50 1.0| 2 3 2vS+2 7 170 40 20
2 3 440= 43 -130 1.0 50| 2 3 3aV= ¢J -140 2.0 40| 6 1 3¢ O= *A -110 2.0 4.0
6 1 440= a2 -130 1.0 50 6 1 4v O+1 4Q -450 0.0 6.0 5 7 4vDS-1 7 -200 0.0 6.0
10 - 3.3 10 - 3.3 10 - 3.3
13 41065 Basta kontrakt 14 & KKn1087 Basta kontrakt 15 4532 Basta kontrakt
Nord v Kn8 5¢ N =600 Ost v Kn7 5¢ OD-1100 Syd vKD 4v V D -1 100
Alla ¢ EKn8752 Ingen .- NS + E65432
#ED & ¢ v & NT #ED10862 & ¢ v & NT »62 & ¢ v & NT
4972 4 EKDKn4 N 6 115 5 8 #62 # 953 N 103 4 104 « EKKn107 D98 N 9 104 4 7
v9764 vKD105 S 6 115 5 8 v ED6 v K932 S 103 4 104 vE9762 vKnl0543 S 9 104 4 7
+ D6 ¢4 06 27 84 + KKn10985 ¢ E732 O3 107 3 7 +D ¢ 107 041995
#K764 #532 V62884 *74 *K5 vV 3 107 3 7 +103 *K54 Vv3i1igo91l
#83 «ED4 464
vE32 v 10854 v8
+ K1093 + D64 + KKn98
#Kn1098 #Kn93 #EDKn987
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 10 3¢ N+2 A 150 6.0 00| 3 4 44 N= 43 420 6.0 00| 9 5 5¢vDV-3 +A 500 6.0 0.0
7 2 24 0= LN -110 4.0 20| 1 10 34 N+1 170 3.0 30| 1 10 3¢ N+1 «Q 130 40 20
3 4 3v0O= +K -140 1.0 50 9 5 34 N+1 ¢2 170 3.0 30| 3 4 24V+1l +A -140 1.0 5.0
9 5 340= LN -140 1.0 50| 7 2 5¢ V-1 *A 50 00 60| 7 2 3v0O= 46 -140 1.0 5.0
6 - 21 6 - 21 6 - 21
16 «E743 Basta kontrakt 17 « Kn82 Basta kontrakt 18 « D52 Basta kontrakt
Vast vE4 2v N =110 Nord v3 4v O =-420 Ost v EKKn 3¢ O =-110
ov + K1073 Ingen + E10843 NS ¢ED
#K103 & ¢ v & NT #10643 & ¢ v & NT »D8542 & ¢ v & NT
« KDKn6 #1098 N58 85 4 #1065 » EK9 N4 43 43 «E9 « KKn3 N7 4485
v D32 v 1095 S5885 4 vK10975 vD8 S 44343 vD8542 v106 S74475
+Kn62 ¢ED 084577 4962 ¢ KD75 08 9 107 9 ¢+ Kn6543 ¢ K102 06 9857
#EKn5  #D9764 V84577 *E2 #KDKn7 V89979 *9 #KKn763 V69857
452 « D743 + 108764
v KKn876 v EKn642 v 973
49854 ¢+ Kn + 987
*82 985 *E10
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéng Par Kontr Ut Res  Poéng
9 6 3¢ N= *Q 110 6.0 00| 2 10 3NO-1 *9 50 43 17 7 1 2NO-4 a4 200 6.0 0.0
2 10 INO+1 v7 -120 3.0 3.0 4 5 4v V-l a2 50 43 17 4 5 2NN= 3 120 40 20
4 5 INV+1l 43 -120 3.0 3.0( 7 1 3NO+1 2 430 03 57| 9 6 1#N= vT 70 2.0 4.0
7 1 INO+2 v6 -150 00 6.0 - 3 26| 2 10 2NN-2 *Q -200 0.0 6.0
- 3 26 9 6 40%/40% 2.4 24| - 3 2.6
19 #1042 Bésta kontrakt 20 « 107 Bésta kontrakt 21 49 Bésta kontrakt
Syd v43 2NT S =120 Vast v 1092 54 V =-650 Nord v K543 ANT O =-430
oV * K7 Alla + EKn109 NS + K8653
#ED8432 & ¢ v & NT #EK73 & ¢ v & NT #862 & ¢ v & NT
4 EKDKN9 47 N9 6 8 8 8 495 «EKDKN63 N 6 5 2 2 3 4 KDKn532 «E4 N6 57 33
v 97 vKnl0862 S 9 6 8 8 8 vD843 v EK7 S65223 v 82 vE76 S657 22
4108643 ¢ D95 027354 ¢+ D75 ¢ K82 07 7 9 118 + Kn42 ¢+ ED109 O7 8 6 1010
#Kn #10975 V27354 #Kn654 &2 V789 118 #105 #DKn97 vV 7 8 6 1010
4 8653 # 842 + 10876
v EKD5 v Kn65 v DKn109
¢ EKn2 4643 *7
*K6 «D1098 #EK43
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
5 6 2NS= s A 120 6.0 00| 1 4 24 O+3 46 -200 6.0 00| 5 6 64V-2 +3 100 6.0 0.0
1 4 3NS-1 s A 50 2.0 40| 3 10 4v V+1 #A -650 2.0 40| 1 4 3NO-1 vQ 50 40 20
3 10 3NS-1 s A 50 2.0 40| 5 6 44 O+1 44 -650 2.0 40| 3 10 44 O= *T -420 2.0 4.0
9 7 3&#N-1 a2 50 2.0 40| 9 7 54 0= *Q -650 2.0 40| 9 7 3NO+1 #A -430 0.0 6.0
- 2 32 - 2 32 - 2 3.2
22 + EKD8 Basta kontrakt 23 453 Basta kontrakt 24 410 Basta kontrakt
Ost v742 ANT S =430 Syd v54 64 V =-1430 Vast v 932 5v N =450
oV ¢E75 Alla + K93 Ingen + EKn1042
#DKn6 & ¢ v & NT #KKn8762 & ¢ v & NT #E984 & ¢ v & NT
463 «Knl0542 N 7 7 9 7 10 4 ED10986 4742 N56 213 « EKD64 4 Kn93 N9 7 116 7
vE10 v K93 S77 97 10 v 83 v EKD62 S56 213 v4 v DKn5 S 97 116 7
¢+ D102 ¢ 9864 06 6 453 + D1065 2 O 7 7 101210 ¢ K7653 ¢ D98 036276
#K109854 &2 V66453 *E #D543 vV 7 7 101210 *K2 #10653 V36273
497 & KKn 48752
v DKn865 v Kn1097 v EK10876
¢ KKn3 ¢ EKn874 .-
»E73 109 #DKn7
Par Kontr Ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
2 5 3NS+2 &T 460 50 1.0 2 5 34V+3 ¥5 230 6.0 00 6 7 4vDS+1 #A 690 6.0 0.0
6 7 3NS+2 #4 460 50 1.0| 1 3 4eV+2 v5 -680 20 40( 2 5 34DV-3 v9 500 4.0 20
4 10 4v S= &8 420 20 40| 4 10 44 V+2 45 -680 2.0 40| 1 3 34DV-2 ¥9 300 2.0 4.0
1 3 24DV-1 &A 200 0.0 60| 6 7 44 V+2 &J -680 2.0 40| 4 10 44 V-2 *A 100 0.0 6.0
9 - 3.7 9 - 3.7 9 - 3.7
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